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o U Tq F A G F 3T FT-0T § JET T 8 T 97 35 &1

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.

o ghereff orgar T To FIT-UA T 9T [rd)

Candidates must write their Roll Number on the question paper.

o YT G9 1 FUT 37 @ (@ 98 FERaGT &Y d [ geT9H [ T & 8, TOET & IUT 59
T § g 4 @ w@hHre Tl A @

Before answering the question, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ FeT Sfard &

All questions are compulsory.
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(i) 797 #9% 1 & 35 % FeGTT F97 & HAF 97 1 7% F &

Questions from 1 to 35 are objective type questions. Each question is of
1 mark.

1. SIHIERY & RN S 1

Define Genotype.

2. e § & fead sgyorn a8 ST 8 ¢ 1
(A)  STHEX (B) X
(C) = (D) ¥FRET

In which of the following polyembryony is found ?

(A) Guava (B) Orange
(C) Gram (D) Maize
3. fFrfaiad # & $F-91 A9 daid I © ¢ 1
(A)  GoTh (TR (B) fafteicra
(C) Fpasg-dl (D) ¥ gf

Which of the following is sexually transmitted disease ?
(A) Gonorrhoea (B) Syphilis

(C) Hepatitis-B (D) All of these
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4.

6.
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(3)

Frtfoied & @ frg ot & sifcdl & S ffaga aaq o ©

(A) (B) wgT

(C) we (D) &eT

Which of the following taxa have maximum species diversity ?
(A) Fishes (B) Reptiles

(C) Birds (D) Mammals

A AR TR 9 F IRERS fra fhae Sam @
(A)  HEGEHIRAT (B)  TRoilfere
(C) weforT (D) ATy qRofie

The interaction between cattle egret and grazing cattle is an example of :

(A) Mutualism (B) Parasitism

(C) Commensalism (D) Amensalism

fre RigW & us &l & 47 HEEH 2d © 7

(A) SR (B) ATl
(C) (A) &R (B) &I (D) TR

In which syndrome a person has 47 chromosomes ?

(A) Down's (B) Klinefelter's

(C) (A) and (B) both (D) Turner's
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7.

10.
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HIF-91 % T5T © 7
(A)  AAU (B)
(C) AUG (D)

Which is a initiator Codon ?

(A) AAU (B)
(C) AUG (D)
IR S Fm B 7

What is Barr Body ?

P 7 HH-8 ol sgE A § ol ¥
A) IgA (B)

(C) IgE (D)

AAC

AUA

AAC

AUA

IgM

IeG

Which antibodies are abundant in colostrum ?

(A) IgA (B)
(C) IgE (D)

Fr=t & § FI9-91 R0 THo To ITHTH Y o ?
(A) TH 3o TFo To
(C) ST o To To
Which RNA is called adaptor molecule ?
(A) mRNA (B)
(C) tRNA (D)

IgM

IgG

(B) TENGNA 3o Tdo Wo
(D) ™ § &4t

rRNA
All of these
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11. 59 SEgfE g § eaa & 99 $9-91 I<Rs gedl 5 ¢ 1
A A B) B
© ¢ (D) 9 & %I T
When proinsulin changes into insulin which extra peptide is removed :
(A) A (B) B
(C) C (D) None of these
12. g a9 715 7 1

What is Coleoptile ?

13. "Ori" # T Wt fifm 1

Write full form of "Ori".

14. fash ishear @ 2 ? 1

What is insertional inactivation.

15. URY HIE S HiER M & die & [T 6 owigd & s B s e 1
Name the enzyme used to breakdown cell wall of plant cell.
16. HEAHRET T 1 8d & 7 1

What are cytokine barriers ?

17. U4 % [0 9% ©9 | W F T W A A&l e H qm AR 1

Name the diagnostic test for AIDS.
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18.

19.

20.

21.

22.

23.

24.

25.
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T 1 IR i 1

Define Disease.

Ui SYae T B B ° 1

What are sacred groves ?

RTHT S # 2l § ? 1

What are stenothermal organisms ?

gxgo Tdo o & SR I wW@red I RwmT ffaw 1

Define reproductive health according to W. H. O.

dlo Hlo R0 H Gl B forfm 1
Write down full form of P. C. R.

el gefe H g4 0 @ AT F AT & f0 HIF-A1 T TH W] J|ECT1 & L

Which flower is a good example to study inheritance of flower colour in
incomplete dominance ?

ffepa gfcren 59 #eq B 7 1

What is passive immunity ?

SRade 41 § 7 1

What is mutagen ?



26.

27.

28.

29.

30.

31.

32.

33.
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BT o Fed © 7 1
What is Capping ?

PI-1 Gl R o &l 98 T W IR & g AT fpar e © 7 1

Which microbe is used for commercial production of citric acid ?

39 ST H AW RaT S oger § gedEen # wd & R agHsad A RET &Y b
2l 1

Name the bacteria which can fix atmospheric nitrogen while free living in the
soil.

Tl FAHT 5 59 Ui & O @) 99 98 g JaIRal U HH Y @l o9 ? 1

Alexander Fleming was working on which bacteria when he discovered
Penicillin ?

S0k FT T ? 1

What is flocs ?

glo THo To ¥ Uiz 5 &ed 2 7 1
What is Palindrome in DNA ?

T TRl P dsmive A ey 1

Name the scientific name of fruit fly.

R &1 Ukiivere a6 @ g/ et 8 & ? 1
The polypeptide chains of insulin are linked by which bonds ?
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34.

35.
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uferar fre fasra w emaiRa B °

ELISA is based on which principle ?

S fafeeer w1 2 7

What is Gene Therapy ?
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